WISCONSIN MOTORS MODEL V465D
ILLUSTRATED PARTS CATALOG

FACTORY AUTHORIZED DISTRIBUTOR

PITT AUTO ELECTRIC COMPANY
4085 ALPHA DRIVE - ALLISON PARK, PA 15101 \E/ k@«J
Toll Free 800-245-0711 - Fax 800-551-5908

$2 Million+ Parts Inveptory — Same Day Shipments

WISCONSIN MOTORS, LLC

Easy On-Line Ordering Steps
If you have an account—Please LogOn
If you don’t have an account that's OK — We’'ll get your
information during checkout
Click on the Item Number or Part:Number you need
Enter the Quantity you need
Click.“Add To Cart”
View total cost & quantity we have available. (If we don’t
have enough on hand we’ll'order them and ship ASAP)
Change or Remove anything from Your Cart
Cliek Checkout when you're ready to buy
. Any questions call us or.email us info@pittauto.com

P [

P F ¥ P

© o N

Repair Specifications

Standard Cyclinder Bore 3.749 - 3.748
Piston Skirt to Bore Clearance .0025 - .003:Cam Ground
Crankpin Diameter 2.1233 -2.1238

.0005 - .0018 Shell Bearing to Crankpin
Clearance (Vertical) Center BRG Shell .0013-
Connecting Rod to Crankpin Clearance .0038
Valve Tappet Clearance -/Cold/Inlet 0.008
Valve Tappet Clearance:= Cold/Exhaust  0.014
Bolt Torque Specifications(FT. LBS.)
Connecting Rod 28 - 32
Center BRG Hanger 74 - 76 Cap 32 - 35
Engines built prior to serial N0.6089642 Center
Cylinder Block/Center, Main to/C.Case BRG Torque is 60 Ft-Lbs

Cylinder Head Alternate in-3 steps 8-10/18-20/27-30
Engine Base 8 - 11 FtLbs
Gear Cover 16-18
Manifold Upper/Lower13-15 to Cyl. Head 23-25
Main Bearing Plate 28 - 32
Spark Plug 20 -22
Flywheel 95-110
Rope Sheave None
Additional Specifications(FT. LBS.)
Crankcase Old Capacity 6 QTS =ADD 1 QT when replacing filter
Running Spark Advance 23 Degrees
Maximum Engine Operating R.P.M. 3000

Emission Certified FALSE



WISCONSIN MOTORS MODEL V465D
ILLUSTRATED PARTS CATALOG

FACTORY AUTHORIZED DISTRIBUTOR

PITT AUTO ELECTRIC COMPANY

4085 ALPHA DRIVE - ALEISON PARK, PA 15101 \E/ l@l
Toll Free 800-245-0711 Fax 800-551-5908

WISCONSIN MOTORS, LLC

$2 Million+ Parts Inventory— Same-Day Shipments

TABLE OF CONTENTS — Click on.the Parts Group or Page to-See Parts List

Description Page
Air Cleaner 37-38
Alternator 33

Camshaft & Fuel Pump Mounting 21-22
Carburetor, Manifold & Muffler 13-14
Control Panel 35-36
Crankcase, Dipstick and Oil-RPan 3-4

Crankshatft, Piston & Connecting Rod 9-12
Cylinder and Head 5-6

Cylinder Head, Valves and Rocker Arm 7-8

Distributor & Coil 39-40
Flywheel & Air Shrouding 29-30
Gasket Set 41-42
Gear Case & Accessory Drive 25-28
Governor 23-24
Idle Gear & Bearing-Retainer 17-18
Oil Lines, Pressure.Valve, Relief Valve & Oil Filter 19-20
Oil Pump 15-16

Starter Motor Mounting 31-32



Click the part item number for
the price and availability

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO *

4085 ALPHA DRIVE *  ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908

Page 3



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RJ173
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1495B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BA55E
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD635A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BH155E
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BK72A1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE37
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK7A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SA58
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA34
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1212
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LJ300M
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LO60-1
tom
Text Box
     NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 3

tom
Callout
Click the part item number for the price and availability

tom
Sticky Note
MigrationPending set by tom

tom
Sticky Note
MigrationConfirmed set by tom

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability
Crankcase and Oil Pan

ITEM PART NO. DESCRIPTION QTY

1 DiPStick, 10" TONG vveeuveeeerneveseisssssseessssens i eeeeeeenereneeens 1

2 RF1495H TUDE, AIPSHCK w.veenrverecernereecicivnivsesnceseeseeses S irras v cesensessecenncs 1

3 *[BASSE] Crankcase assembly-(includesitems 2, 11 13;17;
includes bearing cup, pins, elbow,

fittings, nipple, saberand valve) .............. T T—— 1

4 GaSKet,; Ol PAN fuvurverreereers stineessoseneseeseseessssssess ousnsssenessesssssessens 1

5 Ol PAN b et s e satsae e sne s e ceeseeneacnras 1

6 Washer;5/167spring 10cK .....ccvvrvrrevernins rreaererie et eb st 16

7 ENgINe SUPPOT  tausstervrretes i iittnssereseeseesdios S sseessseesensaesssessssessones 2

8 [PE37] WASHET, 578" LOCK weevreeene e eniatnreeeseessen sisnesinssesseseenen e 4

9 [XD527] Screw, 5/8'-11thread x 1-3/4" 1oNg ... ecucereceremeecrerrecrenncennas 4

10 Screw, 5/16"-18 thread X 5/8" [ONG ...ovierceurreermrureorecavecernees 16

11 XK7A] Pipe plug, 0l drain ...........iuceereecereeecreeeeere e snesesecreeeeees 1

12 ' Plug, 1-3/8" €XPANSION c.euvieoiverire e B reereransceserasesssessssssssesenens 1

13 [XKT] Pipe plug, 1/8" squarehead ..........o e 1

14 B Screw, 1/4"-20 thread X 1/2" lORg ...ovvereeerrinirirnsrisiriiniciann, 1

15 [PE3] Washer; 1/4" spring lock..........ati i 2

16 [PG1212 Clamp, 0il fller D i v.cveereesitstnserseseestencseeeeseenesssssssssasesens 1

17 | LJ300M ‘il filler tube (replaces LJ300AD) w.uu.vurverueniresreeensesnncerasssncenes 1

18 LO60-1 “Qil filler.and breather CAP ... saeenenerees 1

* BAS5E is standard machining number. A dash number is added for any
- special machining (located on marking pad).

Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 4



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RJ173
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1495B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BA55E
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD635A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BH155E
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BK72A1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE37
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK7A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SA58
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA34
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1212
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LJ300M
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LO60-1
tom
Text Box
   NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 4

tom
Callout
Click the part number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE *  ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 *  TOLL FREE FAX 1-800-551-5908
Page 5



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK138
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AN41S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD758
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX184
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD757B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LJ392A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC531
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD6
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1230
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD839
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1377A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC529
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC530
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH22A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH513
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD252
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AA111
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1351A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC529A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC66DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL357-44
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YD301S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD252
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH22A
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 5

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability Cylinder and Head
ITEM \J PART NO. DESCRIPTION QTY
1 WIATE DT .eopmunsaccrecrieerenmeeessasssoneeses Bifttmmuassesesscnsenedsss s snssseconens 4
2 [AN41S1] Cover, rocker arm {(includes item 3) ...cocovvevveereeiiiiteneccrnre e 4
3 % " Gasket; TOCKEL ATTN COVET........ooer i sinenaersessbenonsrssereassesssaneneases 4
4 1 Push rod e e 8
5 Gasket, cylinder head ............... ) W G TESvOvR 4
6 O-1ing, 374 O .D: fivroereerereeseeifeiireessrseses s fssanss e oecereesssasssasees 16
7 [LI392A ] Push rad casing assembly \/
(includes collarand €asing) .......ccccvreeeeeesbiiimmmee e renersesennesineees 8
8 [PC531] Stud, 11-5/16" long(P/N PC531-A for V460D, V461D).......... 4
9 XDl Screw,, 1/4"-20 thread X 1" JONg ... i e iiitleunnrrnrecereresrsessseenns 4
10 [PE3] Washer, 1/4"spring lock .ot 4
11 Clip, cylinder hold dOWIs.... ce. s it e ceecssseraneosersnns 4
12 XKT Pipe plug, 1/8" square head .........ccoveeverrcrneeecmcencrnerncneeneeerens 1
13 QD834 Gasket, cylinder base .ottt 4
14 [RF1377A] “Y” fitting (replaces PF1377)........5 ceucececeriorrecisninnesinsnascssanrenes 2
15 SHUA, 8-3/8" IONG .........oteussseretteers istrussbensoesseessasesssasesssmssssssneeees 3
16 PC530 Stud, 10" 100G ... s 8
17 [PH22A ] Washer, hardened ... et 5
18 [JK52 | O-1ing,3/16" LD. X 5/16" O.D. L iieciiorrrirrmrenseensierersersnsssesneees 5
19 [PH513] ~ Washer, Hardened ... .. . ... bmmmreesensesenssasssssssnssenssessissnsssenerns 7
20 [PD252] Nut, 3/8"-16 thread ....c.cocouheeefenciierineninenrieresre s eesecnns 16
21 | AAT1I1] - Cylinder barrel (P/N-AA%forV460D, V461D) ........couceccrvnene. 4
22 [RM1351A] [ Oil return line (includes item 18) ........cceveveeeviereiereereseseiasseenas 4
23 [PC529A] Stud, 811/ 16" JONG brovveeee i reeececnsss e ssnssssssssseressrssns 1
24 YC66DSl| High temperature safety switch kit :
- C 1 (INCIUAES TN 25) .uvereereeer et enee s 1
— [SD233] .. DIECAL et veeveee e i renrresccnernns s enssossessssastoesssssenesrioessrearsansassecces 1
— [YC66D . SIWALCIL .vevvevvsiersee e s eesssens soaerseseer st esessessessaressssnsaessessasienannssssnes 1
25 IGIItON WiIre ASSEINDLY trerveereeevseseonmoerereesesssssesenensessssssesssnmmnsnesen 1
26 - [YD301S] Spark plug, Champion nO-IN-12Y .....c.erreuermneernscomereseeessecemnns 4
t For engines with serial number 5487817 and after.
: Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO

*

4085 ALPHA DRIVE *  ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908

Page 6



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK138
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AN41S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD758
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX184
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD757B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LJ392A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC531
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD6
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1230
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD839
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1377A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC529
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC530
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH22A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH513
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD252
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AA111
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1351A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC529A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC66DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD233
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC66D
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL357-44
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YD301S1
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 6

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908

Page 7



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AE89
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AE88D
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC532
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AB105AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AD44B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AF51
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AG41
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AH19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AG26A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1319
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX183A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX167B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX168B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI194
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX169A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE73
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM185
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XJ61
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 7

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the
price and
availability

ITEM x PART NO.

Cylinder Head and Rocker Arm

DESCRIPTION QTY
1 Valve, inlet ..o, SOOI PRNNNOROY _——-eer. SUSSONOE 4
2 [AE88D) Valve, @XNAUSE ..ovvcecceceeeieereeerecesns Siiima e eaeseeeabrersens e reserssesnnseneens 4
3 _— Valve seat insert, NIt ......ovviveeeeeeiieeeteiee et er ettt eeeseaenens 4
4 _—— Valve seat insert, exXRatst ... i eis e tres s e reir e 4
5 [PC532] Stud, 7/16" X 2-3/8" [oNg ......ccttivmccecrrrnisiissssisne e 4
6 ~ Cylinder head assembly (includes items 1-5,7 - 12;
. - ~_includes head( /N AB10551 for V460D, V461D)...........c...... 4
7 [AD44B] ~Valvestem guide ... i e 8
8 ValVe SPIINEG .l i sinciresecieceoresses e F e 8
9 [AGAT] Valve rotator, eXRAUSE.....ccivve i eeces e vaee b ereeremsesersassaressens 4
10 AHI19 Lock, valve spring seat ........5000 s 16
11 LAG26A] Seat, valve SPring, inlet... Lo ierrear e seesreerasesseessssnseseeess 4
12 [REF1319 Male elbow, 1/8" P.T. X I/ 4" . il et ereeeaaennan 4
13 [EXTR3Al Rocker arm and bracketassembly ...........ccocorrrecrneronecrneennecenn. 4
14 -Rocker arm assembly, exhaust
’ (Includes 1tems 16 & 23) i ittt ercse e ecar e e eneens 1
15 Rocker arm assembly, inlet
: (includes items 16 & 23) e e e st e 1
16 Tappet adjusting ScreW i.......oivere e 2
17 Screw, 5/16"-18 thread x 1" long c....ccvvvireeciiniceccirne 8
18 [I’EE] Washer, 5/16" springlock ... e 8
19 e —_—— Bracket.. ..o ieiistee e b Bia st ses e e e s 1
20 ROCKET A SNaftii e e fitdenesieceererescnsesiseeenessssasesesssnsssessans 1
21 Lock screw, 1/4"-20-thread x 5/8" long,
Allen socket head it i 1
22 Shaft SPring ...t i s 1
23 Xj61 Rivet, closed end ... i 2
* Not serviced separately.
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO

*

4085 ALPHA DRIVE *  ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908

Page 8



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AE89
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AE88D
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC532
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AB105AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AD44B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AF51
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AG41
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AH19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+AG26A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1319
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX183A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX167B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX168B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI194
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+FX169A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE73
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM185
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XJ61
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 8

tom
Callout
Click the part number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 9


http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DR60
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DE80
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK37A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME168
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA334
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RK179C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GA49
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL156
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA368
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1299
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1513A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1511
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD176
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XB120
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH79
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG353A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+CA75C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH496B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QF93A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD29C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG308S2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD247
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PB146-2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HG131C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DA71AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DB232
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 9

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the
price and

- |availability

Crankshaft, Piston and Connecting Rod

ITEM

g
>
=
H .
Z
)

*
_ZI
s
>~ -
ool B>

-t

ADES

@mqs-mro»—‘
|¥
|
l

7 [PA334]

8 ]RK179C|

9 1GA49
10
11 HA137S
— HA13751
— HA1375
—
- HA137820|
12 PA368 |
13 [RF1299
14 [RM1513Al
15 [RET5IT]
16
17 | XB120)
18 | PH79
19 B(3534
20 = CA75C
21
22
23 [QF93A]
24

DESCRIPTION

Piston ring set, standard(P/N DR48A for V460D, V461 D)us.......
. Piston pin, standard (P/N'DE76 for V460D, V461D) ........lovre..
Retaining ring (replaces PK37) ...coooceciiiiiiiin i
‘Main bearing-assembly (includes items 5 & 6) ...............
- BEATING CUP ttteurierees b ieeereernesesfiiaeseenceseesseeesssasmasrns e esenes
_ Bearing cone.......c......i ST, SO\ W S NS
Pin, cranking ..., rererarnieresose s W R eeerteesereaes
Oil sling, crankshaftu. s Sl e
Crankshaft gear ............ ST, S SRS, = AU
Key,m0.91 Woodruff.......... L.l
Shell bearing, 2 halves, standard,

center Main beariNg .........cccemvermruviieis i
Undersize bearing, .001" " suue.cccecinnisbiene S
Undersize bearing, .002" . e coneesciiomee i
‘Undersize bearing, 010" .. Slis i,
Undersize bearing, .0207 icneuere foeefirerrcosionrcosssnrecssnnns
Dowel PIN i eeeeeeenree otaanenes N /AT
Elbow ........ e RTTROUOII, RDTVEONY 48 5 YOO OTRRRI
Qil line, 5/16"tubing with NUtSwe..oieverciee,
Elbow, 45° ... aiiad ool ecgeeienierinninieisisieanraens
Screw, 3/8"-16 thread %2-1/2"long .....c..ccovvvvrrvnvvcrnneen.
Screw, 7/16"-14 thread x 2-1/2" 10N .-.evvvvervvrreernerencrennn.
Washer, 7/16" hardened .........co0 e

- Center main bearing hanger assembly, without shell
bearings (includes item 12; replaces BG353) ...................
Crankshaft assembly (includes items 4, 8 - 11) ...............
Oil seal (replaces PHA96) ... ieccccceecenccnrrnecrerossemsecennes
Gasket, main bearing plate, .006" thick ......ccc.ccccurevrercenee.
-Shim;,.main bearing plate, .014" thick .....c..cccvvrucervecnienees
Gasket, main bearing plate, .003" thick ......c.ccooririecuvennacs

* Not serviced separately.
A Also'available .005" and .010" oversize:

1 For engines with-serial number 5075776 and after.

** CA75C is standard machining number. A dash number is added for any

specialmachining (located on'marking pad).

Return to Table of Contents

Continued Next Page

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
* 4085 ALPHA DRIVE *  ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 *  TOLL FREE FAX 1-800-551-5908

PITT AUTO ELECTRIC CO

Page 10



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DR60
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DE80
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK37A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME168
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA334
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RK179C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GA49
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL156
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S10
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S20
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA368
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1299
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1513A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1511
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD176
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XB120
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH79
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG353A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+CA75C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH496B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QF93A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 10

tom
Text Box
Continued Next Page

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

|
|

I

Return to Table of Contents

NOTE:

——————— through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR

TOLL FREE 1-800-245-0711 EXT 2

* TOLL FREE FAX 1-800-551-5908

Page 11



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DR60
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DE80
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK37A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME168
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA334
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RK179C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GA49
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL156
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA137S
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA368
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1299
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1513A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1511
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD176
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XB120
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH79
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG353A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+CA75C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH496B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QF93A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD29C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG308S2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD247
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PB146-2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HG131C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DA71AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DB232
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 11

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the
price and
availability

Crankshaft, Piston and Connecting Rod (cont.)

ITEM \ PART NO.

25 XD29C]|
26

27 BG308S2
08 [PD247 |
29 HA120DS

— HA120DS!1
[HA120DS?]

PB146-2

31 HGI31IC
32 [DAVIASI

33 +(DB232

i

DESCRIPTION - QTY
Screw, 3/8"-T6thread x 1-1/4" Iong e ceeccebervieincsirssnnnens 6
Washer, 3/8"spring IocK ... 6
Main bearing plate assembly, standard

(includes Items 5 aNA21) et e e s it nresressnsnnns 1
Locknut, 3/8"-24 thread (replaces.PD200} ... cmiiiveconseerninen. 8
Shell bearing, 2-halves, standard,

CONNECHNG YO ..ovoreriiieiriiiie i s 4
Undersize bearing, .001" ... i 1
Undersize bearing, 002" ...l 1
Undersize bearing, .010" ........crienmsiiennnmnc e 1
Undersize bearing, 020" ......c.tovieieeiirnmsemecsenn e 1
Connecting rod bolt ...l s e 8
Piston pin bushing (replaces HG131B).......cccccorrunrrrnrerrerinerann. 1
Connecting rod assembly '

(includes items 28, 30 - 31; replaces DAZIST) .....ooeveiiiinunennes 4
Piston, standard, cam ground.(P/N DB223 for

V460D, VABTD) it eeeese s e e seeanesenans e 4

+ Also available .010", .020".and .030" oversize.

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO

*

4085 ALPHA DRIVE *  ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908

Page 12



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD29C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG308S2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD247
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS10
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HA120DS20
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PB146-2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HG131C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DA71AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+DB232
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 12

tom
Callout
Click the part number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

[Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE *  ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 *  TOLL FREE FAX 1-800-551-5908
Page 13



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VE693A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LZ77GS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LD258DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+WD58A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH501
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH501
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD205
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH501
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC12A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC171
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF934-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1421
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC83AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC70
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB83
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD162
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LD257CS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD207
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH501
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH484
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC67
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 13

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and .
availability Carburetor and Manifold
ITEI\& PART NO. DESCRIPTION QTY
ChOKE CONLTOL ...couiieeecteteiciieieeecee et ieiees e e s assasessasasessessansanen 1
2 * Carburetor assembly, Zenith
outline No. 12708 .......co oot nncen o simmasesseeseessenieraes 1
— Carburetor repair Kit ...ttt 1
3 Manifold assembly, upper, exhaust
, (includes items 5 and 20; replaces LD258BST) .ccoevvvuienuvuinnne 1
4 Exhaust IUETIET ...t eecenierresitessmcessss dboennsfiesssssssssssssessanses 1
5 .- Screw, 5/16"-18 thread x 7/8" IONE ........ceem e iikisnerrecrsnereerronees 8
6 ' . Plain washer ............5... SO (0 O AU (/R 10
7 NUut, 5/16"=24 thTead .....cvoovviviirriieieericeiesreessessssesssessessesssessessses 2
8 _ PE4 Washer, 5/16" spring 1ock e oecvcernrssimiin s 2
9 QC12A Gasket, carburetor flange ...t s 3
10 PC171 Stud, 5/16" X T-5/16" 10Ng c2iesrerrrreediversfisersecesesasssasesssens o2
11 RE934-1 Pipe nipple, 1/8" X 1" 10Ng civiturriie st 1
12 _ Elbow; carburetor fuel inlet i ..o 1
13 YC83AS Anti-diesel solenoid valve _
(includes locking tab) .......... ot 1
14 Pipe plug, 1/8" square head ..........cc....iuummreiicres 1
15 Insert BUSHING .....cc.o. e fiimnrec e sirenecncnerreceesneeancnnreereseensens 5
16 Gasket, upper to lower Manifold .u..........emresermmessmsesssnecs 1
17 Insert bushing ... i 4
18 Gasket, exhaust port™........i..ocovebibssivnsiinccee e 4
19 |OB85B Gasket With insert.. ... e 4
20 [(XD162] Screw, 5/16"-18 thread X 2-1/2" IONE «....vvurvermmrermeeriemereseenenns 2
21 -+ Manifold assembly, lower, inlet
(includes 5 and 14) .o eeeneeeeeeeiereeeeeeeeeeeeenns erveneeneessniesasarasannrsestes 1
22 [PD207] Nut, 7/16"-20 thread ........o.. bevverotererseereneens e senressesssssens 4
23 [PH484 | Clamp washer .........o.coooieils rtreareean e retereerereeneeeenens 4
24 QCé67 Gasket, exhaust ..........c.......ive hietieeseesusessassasserasssestnasesasesieessaseaas 4
* See "Carburetors” in Options and Accessorles sectlon of this manual
for service parts. : -
[Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 14



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VE693A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LZ77GS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LQ37
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LD258DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+WD58A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH501
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD205
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC12A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PC171
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF934-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1421
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC83AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC70
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB83
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD162
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LD257CS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD207
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH484
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC67
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 14

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
-|number for the
price and

- |availability

S
-
[Return to Table of Contents
[NOTE: - through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 15



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI143B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF18
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KD122A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA64
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD535A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA8
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA56
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA7
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RD151
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KB53
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KD121BS2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL137
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KA61D2S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD94C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD195
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 15

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability
Qil Pump

ITEM 4 PART NO. DESCRIPTION QTY
— Oil pump assembly (includes items 1-18) .........coeeverirverisiennn. 1
1 PI143B Lock screw i......w...... JUOVPRRURURURIT. Wovwe-r.  SSNUORON. CPTURTOORE 1
2 PF18 Pipe plug, 1/8"SloteM  cecveeereeerismaseesrererscesnssessiifimmssscssenseesenens .1
3 SHUD ST ettt sieree e sesse e e esseseseseotiesus b sreseererneseseenee 1
4 KC66 = ) S e I o U PPTOUO 2
5 PA64 | Pin, 1/8" X 3/4" IONE .eovevririsisn s siimsstansirereres o sistenss sessesessssanasanes 2
7 [(QD535A | COVer ZasKet ... .. iuiireenieniisnisios bt b e srcssesesessens 1

8 [PE14] Washer, #10 spring lock........oocoertesmecmsvcdouees SO e
9 [xas] Screw, #10-32 thread X 1/251ONg ...ooooccrvmmmmmsttorsrecmsesssssesrosses 4
10 [XAS5s] Screw; #10-32 thread x 1-1/4" long......../cccoerrs. s asesesaans 2
11 Screw, #10-32 thread X 3/8"JONE .......ifiececerrrersecesseesersereseessnnes 2
12 RDI51 SCIEON «hhvvvcerrstiusarsaiseneenssarenns N oreor Ruvrerosdborssennsorsnsasoracereseesens 1
13 (/03722 U o TR oeerre RO 1
14 Drive shaft (includes gear) i mirmicmsiirmssssnssssssseses 1
15 [PL137 Key, no. 1 Woodruff ...........0 e s Mgl e enerensresnscnsereamsens 1
16 [KA61D251] Body, oil pump (includes gear and Shaft).........cccocvvenurrciacen. 1
17 Qil pump drive gear, external ... 1
18 Locknut, 7/16"20 thread .........cccc.bveeeetieeeineneeeceiresseeeceneseenes 1

Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO

*

4085 ALPHA DRIVE

*  ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908

Page 16



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+K130
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI143B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF18
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KD122A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA64
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD535A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA8
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA56
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA7
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RD151
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KB53
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KD121BS2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL137
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+KA61D2S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD94C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD195
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 16

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


|Click the part item
number for the
price and
availability

|Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 17



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG352
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PJ105-3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GC28
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE55
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 17

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
avallability Idler Gear, Bearing Retainer and Oil Collet
ITE PART NO. DESCRIPTION . QTY
1 — Bearing CUP ... 1
2 [BG3521 Bearing retainer PIate...........oovwernercerecemseieecenessssmsasbinessssssossns 1
3 Washer, 5/16" spring 10cK ........ccmvcivncinnessiitimeneeraerscnnenenens 6
4 XD15 Screw, 5/16"-18 thread x 3/4" IONg ....ovvrveveee fttimnarecmcereevrennens 6
5 +|P]105-3 Stud, idler gear....... .o e s 1
6 HGC28 Idler gear assy. (includes HG279 bushing) .......ciceveervccnnnee 1
7 XESS | ‘Screw, 5/16"-18 threadx 3/8" long,
_Allen head sét.....L ... oo e eresvererezatzes L ceeteeeeneee s 2
* Not serviced separately
t For engines with serial number 5075776 and after
[Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101

TOLL

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 18



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BG352
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PJ105-3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GC28
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE55
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 18

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


“|Click the part item
number for the
price and
availability

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 19



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1514
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK53
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RV41AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF18
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF18
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF18
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK75
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM845A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1319
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1049E
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1374
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM850A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1420
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1423
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RV38S3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RV48
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK56
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SA13
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1349A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA259
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1388A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1389
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM111A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE74
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH535
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF1S1
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 19

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability
Oil Lines, Pressure Valve, Relief Valve and Qil Filter
ITEM \ PART NO. DESCRIPTION ' oTY
1 Screw, 5/16"-18 thread X 5/8" 100G ....vvvveeeererrvesvsnees Fonreesersennns 2
2 Washer, 5/16" spring 1ock........ccooecrvcnincnnncnccnnsd e 2
3 Elbow, oil spray(replaces RFI1375A) bl 1
4 O-1ing, 5/16" LD. X 7/16" O.D, cooevovververeinerreensiessnsessstossses oo 3
5 [RV41AS51 Qil pressure reducing valve ...l 1
6 PF18| Pipe plug, 1/8"slotted . ........o.ooo sttt 4
7 K75 O-ring, 3/16" I D. x 3/8" O.D. ....ctmucsiciitinngsisencerierensans 1
8 RM845A Oil line, 1/4" X 8=1/2"100g ...l ittt eeesreness 1
9 [RF1319] Elbow, 1/8' P.T. x 1/4" ..t AV Y S 1
10 Flexible hose, 19" 100G . tuuuvuupreemecccemmcecrmmerieoes e eeaenresccrnenes 1
11 [RE1374] AGAPLET NG .vvvvvvcersreesensaseresraforroribieesssssssesbosssesbussseesmsseseesassenns 1
12 Oil line, 1/4" x 7-1/2" long

(replaces RMTI22B) ....cccoooiiiiiiinimin it 1
13 [RE14201 Fitting, oilline connections 0.Case ...l ccummcieeniucenns 1

14 [RF1423] Nipple, oil filter MOUNNG ..cttiunn i 1
15 |RV38S3 | Oil filter cartridge, 3 pack i e eereees aeereeriienns SR 1
16 Oil pressure relief valve assembly ...... ... et 1
17 O-ring, 3/8" LD.x 1/2" O.Disli i iimadien e, 2
18 [SAT3 ] Plug, 374" eXPanSion ......uveiiierrereers hesrrrsbosioseissemessissssrneans 1
19 %&l Adapter, relief walve ... 1
20 A Pin, 3/32" O.D. by 5/8" long.......cccivdecdiininnecnnnnn: eeereeeaeernaanes 1
21 RF1388 Body, relief valve ...t e 1
22 RF1389 - Plunger, relief valve ..o oo e fernenncncncrecressesnesseeneens 1
23 [ PM111A SPIING cvcriesieersemr s sbes s s o str et seene 1
24 XE74 | Set SCIEW 3/8-24 ..re ottt ettt es s e s e es st asan s 1
25 PH535 WWASHhET (e e e bt a s e s saee s 1
26 [PETST] PIUZ cocveorreerreeensssnes Mpaiienesecseseess il annecssasessssesssssssesesssssesssnsssnne 1

Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR

TOLL FREE 1-800-245-0711 EXT 2

* TOLL FREE FAX 1-800-551-5908

Page 20



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1514
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK53
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RV41AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF18
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK75
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM845A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1319
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1049E
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1374
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM850A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1420
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1423
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RV38S3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RV48
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK56
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SA13
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1349A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA259
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1388A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1389
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM111A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE74
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH535
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF1S1
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 20

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
|availability

Return to Table of Contents



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LP38KS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1096
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE286
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD9
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1049K
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD175
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TF96-20
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD538A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD67
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF794
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LP19B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+F67B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF101
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GB46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+EA132
tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the
price and

ITEM \ PART NO.

J—t
i
w
—
™~

ol
O
>~
w;
ot
O

N
(e}
—

N
—
= .
>
—
6%
N

availability Camshaft and Fuel Pump Mounting

DESCRIPTION

Screw, 5/16"-18 thread x 5/8" long ........
Washer, 5/16" spring lock ......c.cvurierinnee
Fuel pump (replaces LP38E251) ..............
Repair Kit oo
EIbOW, 45° et e i .
Heat shield.......cccoviveeimicceirceccrrcceeee
INUL, 1/4"-28 et e b easbe e
Flexible hose, 13" long...........c.cveerriiieenene
Screw, 1/4"-20 thread'x 7/8" long ..........
Washer, 1/4" springlock ..........cc...... I

Adapter, less primer (includes plunger)

Gasket, fuel pump mounting ...................
Gasket, fuel pumpadapter .....i....ciive.
Pipe nipple, 1/8"x.3/4" long ui.cccerveriee.
Fuel strainer......tcceeeeeenen-. e AT
Repair Kit ..o, -
Valve tappet ...t s
Spring, camshaft thrust plunger .............
Thrust plunger, camshaft............ > Wi
Lock washer, 5/16" external tooth ..........
* Screw, 5/16"-18 thread x.1-1/4" long-.....
Camshaftgear ........c.occoooueeiicnnnec it
Camshaft it B

t For engines with serial number 5075776 and after.

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

* 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR

TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908

PITT AUTO ELECTRIC CO

Page 22



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LP38KS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LQ46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF1096
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE286
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD9
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RM1049K
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD175
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TF96-20
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD538A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD67
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RF794
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LP19B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LQ32
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+F67B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PF101
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GB46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+EA132
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 22

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents

NOTE:

------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 23



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD173A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VE876S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH332
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK81
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK121
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD16B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SA52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC391D
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC535S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA340
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC322DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD150
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH313A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC388-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC395S14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA367
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VB151
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD615B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH571
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC398
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM173
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI145-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG972
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 23

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability GOVERNOR
ITEM |\ PART NO. DESCRIPTION QTY.
— Governor assembly.(includes items 2-4 & 16-23) ...... ... 1
1 |§?% 7%?] ' Nut, adjusting screW o ... ... ... LTl .1
2 E876S Control rod, govemnor.to carb (includes item4) ... oo . ...... 1
3 PH332 Washer, flat, 1/8" LD. x5/16" O.D. ... ... .. ...l .. ... 1
4  |PK3] Clip, lefthand _......... . "1ovee. .. ... N 1
5 [XKI21 - Plug, 1/8" pipe, Allen head, countersunk-<. . ... __oio.. ... .. .2
6 | XD16B Screw, 5/16-18x7/8" long w.. . .. . ..ol . ... 4
7 [PE4] Washer, 5/16", spring locke._ ... L. ... 4
8 Plug, 1/2" expansion ... oue.s. .. .0 ivvee o e 1
9 Thrust sleeve and bearing _ .. ... i et -1
10 [TC33581 Gear and flyweight assembly (includes items 11-14) ... .. 1
11 A340 Roll pin, 3/16" x 1-1/8"long _.. .. o0 . . . . eeeide .. 22
12 [TC322DS1| Flyweight assembly . v e, 2
13 |GDI150| Gear ... ... TR e . G . N 1
14 [PH313A] Washer, flat, 3/8" nom, bushing e ... % cues oo 1
15 [TC388-1] Governorshaft ... [........ . D). g 1
16 [TC3958141 Housing assembly (includes items 8, 17,18,21 &22) ......... 1
17 Roll pin, 1/8" X 3/4™10Ng .. . 0 e 1
18 Yoke oo ool L)oo -1
19 [QD6ISB] Gasket, housing ... ... ... Y e Y R 1
20 [PG9T2 Bracket, govemor control _ oo, .. Ll -1
21 [PH571 Oil seal .. .. 0. I
22 [TC398] Cross shaftand lever _.... ... ..._............. U 1
23 PM17 SPriNg, OVEIMOT ... .. 0. ittt 1
24 [PI143- Serew, adjusting, #10-32x6-3/4"long .. ... ............. 1
25 XD4 | Screw, 1/4-20 x 1-12" long ... seeue...... s 1
26 |P]£| Washer, 1/4", spring lock . ... ... reu. ... R s 1
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 24



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+T134M
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD173A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VE876S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH332
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK81
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK121
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD16B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SA52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC391D
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC535S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA340
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC322DS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD150
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH313A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC388-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC395S14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA367
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VB151
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD615B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG972
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH571
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TC398
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PM173
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI145-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 24

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Return to Table of Contents

Click the part item
number for the

price and

availability



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD633-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD228
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BD108S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD22
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH496C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA291
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA291
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD634
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+WE243-2S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TF122Y2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH541
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD32
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TB141CS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD616
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK59
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME139
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK107
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HF470
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD120
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD79
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JJ320G
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GF90
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA367
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JD362-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME112
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE65
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MD363-1
tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability Gear;Cover and Accessory Drive
ITEI\x PART NO. 'DESCRIPTION - : QTY
1 . Gasket, spacerplate to crankcase ............................................... 1
2 [XD15 | . Screw, 5/16"-18 thread x-3/4" long............ Y . T 2
3 [PE4] - "Washer, 5/16" spring lock ....cc.euenvecs TRy SR 17
4 [PH14]  Washer, 5/16" LD. X 19732 O.D: s ccvcsseess oot scessssssessssrns 1
5 XD14] . .Screw, 5/16"-18 thread x 5/8" 100G .....rrrermmmee Trmerceremrecmenecnns 5
6 [PDZZ8] - Fastener, SPACET Plate ...l cismereecmsteecurreenssiseressbsreesasessessnssesnses 2
7 [BDIOBST | . . Gear coverassembly (includes item 9;

_ .. includes plug, button and SRAft) .o..........sisussarecesesecssenecssssnneeees 1
8 ' .Screw,5/16"-18 thread x 1- 3/4" LONE <. ttnans eeceeressnesnassersessnnes 2
9 PH496C | - Qil seal, N 1
10 Dowel pin, GEAr COVET .........itistunmmeriessers it ensesivssassescssesssssens 2
11 [XD19] Screw;5/16"-18 thread x 1-1/4" long ........................................ 8
12 [(XK3] Pipe plug, 3/8" square head = ..........tuwsiteeerrenccrmemsesesseenseees 1
13 Gasket, ZEAr COVET tO SPACEL -.ervverrererrrvvsrssssnsssseesessssssssmesssnsesens 1
14 Gear. cover spacer plate(includes item ) 1

15 +[TF122Y2 Accessory drive assembly (includes items 16-20; 23-25; 27,
32,34-35) .....4.... evererrneee N e re IRl <+ s serrersasesseresssassaassenne 1
16 @ T e (e ol U 1
17 XD32 Screw, 3/8!-16 thread % 2! lONgG ...t cvveeerrvvernreenerrsscssmsecssasecens 2
18 [PE5] Washer, 3/8" SPINg 1OCK ......c.cobewoemtoermrreressesrmeseessssscesecsssens 2
19 Housing assembly (includes item 21, also oil seal) .......o....... 1
20 Gasket, ROUSING ... bbb 1
21 O-ring, 1-1716" LD:%1-5/16" O.D. .cvourrrverrrrcrreceeerserssassersennes 1
22 Bearing, no. 1633-NS........ccoimcrcrcninterercrer s 1
23 Lock ring; bearing ...ttt s 1
24 Spacer, drive gear ..........cocscsiencnnincncanen, SRR 1
25 Drive gear ...t reerrrseererrresrrrertrrarerareen 1
26 LOCK TING oo ittt ettt e 3
27 INUL, 3/ 8 =16 e it i e srse e sres e s e snenaesresaesrenes 2

28 Drive shaft assembly (includes items 20, 22 23,
26,29 - 31, 33, 35; includes oil seal) ...... S Y PSS — 1
- t For engines with serial number 5075776 and after.
Return to Table of Contents

Continued Next Page

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO

* 4085 ALPHA DRIVE *  ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908

Page 26



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD633-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD228
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BD108S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD22
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH496C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA291
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD634
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+WE243-2S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TF122Y2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH541
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD32
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TB141CS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD616
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK59
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME139
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK107
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HF470
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD120
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD79
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JJ320G
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 26

tom
Text Box
Continued Next Page

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the

-|price and
availability

Return to Table of Contents



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD633-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD228
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BD108S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD22
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH496C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA291
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA291
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XK3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD634
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+WE243-2S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TF122Y2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH541
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD32
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+TB141CS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD616
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK59
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME139
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK107
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+HF470
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GD120
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PK108
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD79
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JJ320G
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GF90
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA367
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JD362-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME112
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE65
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MD363-1
tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and _ .

availability Gear Cover and Accessory Drive (cont.)
ITEM\ PART NO. DESC‘RIPTIO'N : QTY
29 [GF90] - Gear, diStrIDULOr ATIVE .....cvesceeseccrmnecesncenssssssesseesbaereseessresssnssanns 1
30 [PA367 . Pin, distributor.gear, 1/8" x 3/4" 1ong .....c.eevvevrisenemiiie. s 1
31 JD362-1| ; Shaf_t_'....-.._.._ ............... YOO ST . SR 1
32 [PL55 - Key, 10. 6 WOOATULS ...t bebizmsss e sssscanenses 2
33 ME11 Bearing, n0. 1623-INS e it csccnedon et cnecenresens 1
34 XE65 - -Screw, #10-32 thread x 1/4" long,

 Allen head set............iieneneninn. v, WENTNI 4. RO, 1
35 MD363-1] . " Drive Pulley.....c..iisceremecmimeiiiessmn et e B S|
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC

CO * 4085ALPHA DRIVE * ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908

Page 28



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GF90
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PA367
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JD362-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+ME112
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XE65
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MD363-1
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 28

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
|availability

|

|
|

Return to Table of Contents

I

B


http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE241A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE240A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE242A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD312A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA67
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GH43
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+N116
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL145
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE85
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD193-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE48
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD172
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD171
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE80A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE239A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1039
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI230
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE240
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH84
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE242
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1050
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE241-4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA34
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH84
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH84
tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the
price and
availability

ITEM\ PART NO.

Flywheel and Air Shrouding

DESCRIPTION QTY
1 Heat deflector, right Side ......cccovveerrenrecerneencrnsncrnsessiniesraesnennn. 1
2 Cylinder shroud, right side .......ccooviimmivicnnnne i 1
3 Cylinder head cover, right side ........cccocviriicssiimmeriee e 1
4 [SD3T12A4] Engine name plate .......cceoeuvvveneinneicc e irbnas e 1
5 SCTeW, #4 X 1 /4" 10N tiurnaerrenieistinmsscecsiescse s esrneereenans 4
6 [GH43] RING OAT 1.ttt bbb eeens 1
7 N116 Flywheel assembly (includes item 6;
replaces NCIHST) ..o H e i e enienee 1
8 Key, special Woodruff ...........coiiiiono i icsrcicnnneienne 1
9 [PE8SY Lock washer, flywheel nut ... 1
10 - Nut, flywheel mounting
] (replaces PD193-2) i....oiiiriueritencrniesemississscissssssossessesssnenes 1
11 Screw, 17/4"-20 thread x 3/8"1ong ....c0 vt eenes 8
12 Washer, 1/4" SPTing LOCK ....iuturereeeusisrermrrmssersresmssssessmsssessiossnns 8
13 SE48] . . Screen; flywheel Shroud ...l e cenerierrrecasessaressssasssnases 1
14 XD172 Screw, 5/16"-18 thread x 1/2*10Ng ..ctt.cirrvcireiernivcieinivnieeennenens 4
15 L - Screw, 3/8"-16 thread x 1/2™10Ng ....cwieecrenenerncremrinnersercreeane 2
16 [PESDA] Washer, 3/8" internal tOOth «.f...cveo it eseeeereeesessesessessenes 2
17 Washer, 5/16" springlock...5c......ccouon.s et 4
18 Flywheel shroud ........ccu......... S D 1
19 . /Speed Ut e 1 TR et 2
20 P1230 Thumb screw.................... o VISR ¥ 5 SOOI 2
21 [SE240 Cylindershroud, left side......coooriiiinincicnce i 1
22 PH84 Washer,1/4" LD. x 1/2"0Q.D. x1/16" thicK .....c.crevrernrrerreruenns 6
23 SE24 Cylinder head cover, left side....cu......ueen e reneens 1
24 [PG1050 | Bracket, heat deflector, left side......c.ovveiiiiiiene, 1
25 |SE241—4 | Heat deflector, left side (replaces SE241) ... 1
26 XA34 Screw, 1/4"-20 thread x 1/2" IONG ... 2
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO

*

4085 ALPHA DRIVE  *

ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR

TOLL FREE 1-800-245-0711 EXT 2  *

Page 30

TOLL FREE FAX 1-800-551-5908



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE241A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE240A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE242A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD312A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA67
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+GH43
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+N116
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PL145
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE85
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD193-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE48
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD172
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD171
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE80A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE239A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1039
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PI230
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE240
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH84
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE242
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1050
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE241-4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA34
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 30

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

- |Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 31



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LL146
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YA60
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL352-26
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL353A27
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD29C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 31

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the

price and
avallability Starting Motor Mounting
ITEM& PART NO. DESCRIPTION QTY
1 LL146 Rubber sleeve ... s s 1
2 *1YA60 Starting MOtOT GBS e 1
3 YL352-26 | Ignition wire assembly ........c.... S o e 2
4 - [ YL353A27 Ignition wire assembly ... s 1
5 | XQZQQ | Screw, 3/8"-16 thread X 1=1/4" loNg . coveeevesdeveiiriiinreieceenns 3
6 | PE5 Washer, 3/8" spring IocK........c.ovecoceinniniiies i 3
* See "Starters” in Options and-Accessories section of this manual
for service parts.
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101

FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 32



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LL146
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YA60
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL352-26
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL353A27
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD29C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE5
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 32

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

YB85BS1 Belt Driven Alternator Mounting
Replaces YB69 (Beginning With Serial No. 5734200}

USE WITH MODEL V465D

STANDARD
ACCESSORY DRIVE

STANDARD
ENGINE SUPPORTS

ITEM PART NO. DESCRIPTION QTY | ITEM _PART NO. DESCRIPTION aTty

1 Washer, 1/2" O.D. vo.obemnornit 1|17 [pEZ] Lock washer, 1/2" ....ccovvvuenn. 1

2 £5311 =] ¢ U e 1:18 YL377-30 Ignition wire assembly,

3 Nut, 5/16"-18 thread .......cw.... 2 no. 10, 30" [oNg..eeeeeccnrna. 1

4 Lock washer; 5/16" n...3 | 18 Nut, 1/2"-13 thread ............... 1

5 Ground WIre .. .uevveeieeeeireneans 1120 YB85A Alternator assembly

6 Lock washer, 3/16" I.D. .......... 1 {inciudes 21, 22, 24)

7 Bracket ......ccccooeiiiGineenenrenen 1 (replaces YB69 Motorota

8 Cylinder shroud, left ............. 1 #8AR2069F,and Y.J53

— Ignition wire assembly, regulator for YB69
no. 10, 27" iong Motorola #8RF2011A; see
{notillustrated) ......cceeeterenane 1 Service Bulietin SPB 4-83) ....1

9 Screw, 5/16°-18 thread x 21 [Mb403 Driven pulley ....cccoccieeeciininns 1
7/8"long (S.A.E/ grade 5).....1 | 22 Regulator {8RF2012A} ........... 1

10 BIBCKE .....voveeess iusuesberessesssmece 1123 [XD169 Screw, 5/16°-18 thread x

1 Screw, 1/2" x 13 thread x ' 1-1/4" long

' 2-1/4" 1oNG Levrereeeee e 1 {S.A.E. grade 5} ceverrereciaeenncns 1

12 1 S A 1. 24 Wire assembly

13 m Washer, 5/16" I.D. x {replaces YB69 Motorola
5/8" O.D. il 2 no. 8AR2069F, YJ53

14 [PE2g Lock washer, 5/16" ................ 2 regulator for YBG9

15 Serew, 5/16"-18 thread x Motorola no. 8RF2011A) ....... 1
5/8" long {S-A.E. grade 5)...... 2

16 Screw, 5/16"-18 thread x *See "Alternators” in Options and Accessories

' 3/4" ONQG ceeerrereererence b 1 section of this manual for service parts.
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 33



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH209B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1182
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD78
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL353-12
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE75
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1183
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE240
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL376-27
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BI379
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD170
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MH184A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH77A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE7
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL377-30
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD81
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YB85A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MD405
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YJ71
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD169
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL392-14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH209B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1182
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD78
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL353-12
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE75
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG1183
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SE240
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD17B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+BI379
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD170
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MH184A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH77A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE46
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE7
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL377-30
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD81
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YB85A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+MD405
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YJ71
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD169
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL392-14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL353-12
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD78
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 33

tom
Callout
Click the part item number for the price and availability


Pitt Aut : :
ot Pitt Auto Electric Company

Electric
4085 Alpha Drive, Allison Park, PA 15101-2961
cOm pany Web: www.pittauto.com * E-Mail: info@pittauto.com

Distributed Products

HATZ Power
OIESEL Products DIESEL
Air Cooled Gasoline, Natural Gas, Liquid Cooled
Diesel Engines Liquid Propane Engines Diesel Engines
2HP ~ 74HP 53HP ~225HP 15HP ~ 530HP
I?DCI(fardb mur P h y ,
\/ Powerflrsirr ’
Power Take-Off Assemblies Safety Shutdown & Control Systems
WISCONSIN MOTORS, LLC
Wisconsin & Continental Air & Water \\,@ B 5 Ao
Cooled Spark-Ignited Engines . - Al )
37HP ~ 74HP NORAM

Pawer Transfer Solitions,

Centrifugal Clutches Power Transmission Products

ZENITH X

POWER PRODUCTS LLC

Dry Fuel Systems and Tractor & Selected Engine Parts
Components

KOHLER. & -eMeanpme Lenginaire

Kohler Air & Water Cooled Kohler Air & Water Cooled Steiner Tractor Air Filtration
Spark-Ignited Engines & Parts Diesel Engines & Parts Parts & Accessories Systems & Parts
Toll Free Order Line Service Assistance Local Phone Local Fax Fax Order Hotline
1-800-245-0711 412-487-5075 x 123 412-487-5075 412-487-2225 1-800-551-5908

Distribution Territory Varies by Product Line

Open Monday thru Friday from 8:00 AM thru 5:00 PM




Click the part item
number for the _1
price and
availability
|
|
|
|
|
|
|
Return to Table of Contents
- i
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 35



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL352-8
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC27BS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD265
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VE731
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD255
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YE2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RS56
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 35

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability Control Panel
ITEM \ PART NO. DESCRIPTION | QTY
1 [YL352-8] Ignition wire assembly ..., crusnRgaesresiriesninines 1
2 t ¥ Ca7Bs1] Ignition, starting switch (includes item 7) .........coccmtincecrreerneens 1
— A[YCIBST Ignition switch
— A Starting switch
3 SD265 Tag, choke INStructioNS .. ..o iitieenes s b s 1
4 XA33 Screw, 1/4"-20 thread x 3/8" 1oNg ...ccorvvinivieeiciisbonnnciiinicane 4
5 Washer, 1/4" spring 10ck........loccovec el 4
6 [VEZ3T] Control panel ......L.coeiiinneenns e, <O vrry:. U 1
7 SD255 | Tag, ignition starting sw1tch ....................................................... 1
8 YE2 | AT (i 0 ittt s e 1
9 [RS56 | Oil pressure gauge ...c........ . iwsusereescscseeiiibinneennns S 1
-t For engines with serial number 365572 and after.
AFor engines with serial number 365571 and before.
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908
Page 36



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL352-8
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC27BS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC9BS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YC19
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD265
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA33
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+VE731
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD255
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YE2
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+RS56
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 36

tom
Callout
Click the part number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LO127A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P20648
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P20227
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P20650
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG456B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD78
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA74
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD198
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LO185S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD161
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P2691
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P17702
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P17703
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK8
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LL89
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK9
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LJ131
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK24
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LL30A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK24
tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability Air Cleaner Group

ITEM \ PART NO. DESCRIPTION : QTY
1 Pre-cleaner, Donaldson Co. (includes items 2 - 4) ...c.ccevevncnee. 1
2 | 22-P20648 Cover assembIY ... st s 1
3 [22-P20227 ] BOoAY .o Ty S S 1
4 (22-P2 - Sleeve assembly ... S 1
5 [PG456B] ~ Strap, air cleanier (P/N-PG512 for-V460D, VA61D)........ccorrn. 1
6 Nut, 5/16"18 thread ...veveeeierereereeeeessrsereenee et cereesaseeeneranes 3
7 PE4 “Washer, 5716" spring TocK ......0o.eveehmecnerscbene b 4
8  Screw, 5/16"-18 thread X 5/8" 10N .........coreresicitiemminnmrecsrseeees 4
9 Screw, 1/4"-20 thread X 2-1/4" 10N ......cccrvreerreveerrvecninesisinaen. 2
10 Locknut, 1/4"-20thread ......ccooveeeeeeeecriievmiusccerenns s 2

11 [ LO1355T | Oil bath air cleaner, Donaldson.Co.
(INClUAeS JteMIS 12 = 16) wevveeeeiiiiirnreecereeesttmeatraseaseernsransesssnesssnss 1
12 [SD161l DAl .ottt e e e 1
13 e — BOAY ASSEMIY w...ittevernerncre et oreeer et seestbarenssenrasessoeemneceressans 1
14 [22-P2691] Clamp assernbly ........................................................................... 1
15 22-P17702 Inner il CUP...ciim et 0 R 1
16 22-P17703 ] Outer Oil CUP b rnascem et e cessenedcomes i ececsseons 1
17 (K8 Hose clamp, 2-1 / 8" 1. D carburetor end .........o...... fevreserieideeanns 1
18 LI89 RUDDET €IDOW .....oovevere i iiktmms e ceee it b direreansaesessseesesasnssesesssnrerssses 1
19 [LK4 Hose clamp, 2-3/8" LD uee e sttt 1
20 (L]131 Tube, air cleaner CONNECHION ... ool eeraeerersereeeeee e 1
21 LK2 Hose clamp, 2-1/4" 1.D., air cleanerend ... 2
22 LL30A RUDDEE NOSE .vevveiirenieiieiei e eeee e e s es e s esesaesseenane 1

* Not serviced separately.
Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 38



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LO127A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P20648
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P20227
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P20650
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG456B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD78
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XA74
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PD198
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LO185S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+SD161
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P2691
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P17702
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+22-P17703
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK8
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LL89
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK9
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LJ131
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LK24
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+LL30A
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 38

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 39



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD16
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH198
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG314
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL349
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YD20
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YF45S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG543A1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK59
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YD20A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL352-26
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YF41AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG556B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH198
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 39

tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and Distributor and Coil
availability

ITEM g\ PART NO. DESCRIPTION QTY
1 Screw, 5/16"-18 thread x 7/8" 1ong w.o.ovvvcevevevenncn. . 1
-2 PE4 Washer, 5/16" Spring 1ocK......cemmeimmenmnee 00 e -1
3 [PHI98 Rubber grommet ............cou.evreerere ilitmmascecereeens e 3
4 Clamp (replaces PG1042) ..o 2
5 fyL.349] Distributor-ignition cable'set (includes item 3) ...vtvemeeceeeeeenens 1

— Cable, coil to distributor
— YT 339-14 - Cable, #1/cyHNAET ..ottt 1
— Y[.339-16 Cable, #3 cylinder ... st Sisss e 1
— Y1.339-42 Cable, #2 cylinder ... it Btmnsee s 1
— YL339-44 Cable, #4 CYINAET ...t e secnenees 1
6 YD20 Rubber nipple, distributor ...t 5
7 1 YE4S5T] Distributor, Colt D0, FMDAC7 i 50 ccsiiesinieans 1
8 [XD4] SCLEW, 1/2" JONEG -eotheverecreesberiteithiiune i erscon st essissssesicsssssesserens 1
9 [PE3 ] Washer, 1/4" SPring locKu.c.. ..o iiimmssiee s sesinnns 1
10 PG543A1 CCLAMP crieisn i s b s e 1
11 [JK59 | - O-ring, 1-1/16" LD. X 15/16" O.D. ..foohorcceeinriciesisieeisis 1
12 YD20A Rubber nipple, ¢oil terminal......... oo v ceencnercniiniiicisianeennn 1
13 [ZNtioN WiITe SSEIMbLY .ivutesiterer. Hikstanssiesseeesreessecssessecssesesenens 1
14 YF4TAST] Ignition coil'assembly (includes item 15)........ccorvvecrinesnennee. 1
15 - |PG556B Clamp, standard ... i s 1

* See "Distributors” in Options-and Accessories section of this manual

for service parts.

Return to Table of Contents

NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
PITT AUTO ELECTRIC CO * 4085 ALPHA DRIVE * ALLISON PARK, PA 15101
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
TOLL FREE 1-800-245-0711 EXT 2 * TOLL FREE FAX 1-800-551-5908
Page 40



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD16
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PH198
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG314
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL349
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL358-15
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL339-14
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL339-16
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL339-42
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL339-44
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YD20
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YF45S1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+XD4
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PE3
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG543A1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK59
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YD20A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YL352-26
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+YF41AS1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+PG556B
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 40

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part item
number for the
price and
availability

Return to Table of Contents



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB83
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD839
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK53
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC12A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD67
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD616
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD615A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD757B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK56
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD535A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD538A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD635A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD633-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD634
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD758
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761A
tom
Callout
Click the part item number for the price and availability

tom
Text Box
Return to Table of Contents


Click the part
number for the

price and
availability Engine Gasket Set
ITEM &j PART NO. DESCRIPTION QTY
— Engine gasket set with 0-Iings....ccccooviiiinns St 1
— Gasket set, valve grinding

(includes items 1 =3,5 -6, 12, 20} itticeerreeeeeeernsboressitineereessesesans 1

1 O-ring, 3/16" LD. x5/16" O.D,,
Arain lNe cittie e eereiiee s e cve s onee s S0isn e s aesaeedaeesersnesssesrassnssaseases 4
2 JK55 O-1ING, 3/AT DD, oo ssssrssee e smesssee s eerassesesssersanns 16
3 Insert bushing, 1-1/4"ID. x 1-3/4" O.D. ..ocovorentivrnnrrercrrnnen. 4
4 Gasket, cylinder base (P/N QD841 for V460D and V461D)................ 4
5 | OB85B| Gasket with insert, inlet manifold to cylinder head................. 4
6 LQC66 Gasket, exRausSt POIt ... et e e 4

7 JK53 O-ring, 5/16" LD. x7/16" O.D.,
, oil collet COUPHNEG ......ocovie it e 3
8 QClZEI Gasket, carburetor flange .i...c..cocovveiiiemrn i 3
9 [QD67 | Gasket, fuel pumpadapter ..o issivnriinerriensiee e e 1
10 [QD616 | Gasket, accessory drive housing ........ccooeeivivivnenniennsinnnns 1
11 Gasket, gOVeINOT hOUSING ......covevrvecbeneric e 1
12 Gasket, cylinder head .. i e ticcmmsecmmerreesensssssissscssasssannces 1
13 O-ring, 3/8"LD. x 1/2"Q.D., collet.adapter .........coueeecrrreeeennns 1
14 D535A Gasket, oil pump cover.. it e sabone 1
15 [QD538A Gasket, fUBL PUIND ...t s s s e 1
16 [OD635A Gasket, Ol PaAN ......o.occrsiineceiin et 1
17 Gasket, main bearing plate, .003" thick .........ccoeviunrrvcreuevennenee 2
18 Gasket, CTANKCASE i riueeceieiieresbiessieseesessessessassessessssessesssssesssess 1
19 | QD654 | Gasket, ZEAT COVET Ll it ieiisinniriiisssseessenesesnieses reeseneanes 1
20 QD758 (Gasket, TOCKET AT COVET ....ecvucrvverreiaerenrerirrsversesseesssssssssenssensnenn 4
21 Gasket, main bearing plate, 006" thick ........c.ccoeriniciriuccrienuans 2
— [Q32C] OVEThAUL GASKEE St irurnvecvvsrtbasastenesarassressnessssssoneesssssssssssasssessssas 1
— (Q34A Gasket set, valve grinding ...iviic it 1
22 [JK75_] O-ring, 3/16" LD:x 3/8" O.D (Not shown). .....cccemvvsmrcrinenane 1

Return to Table of Contents
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin

PITT AUTO ELECTRIC CO
FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR

*

4085 ALPHA DRIVE *  ALLISON PARK, PA 15101

TOLL FREE 1-800-245-0711 EXT2 * TOLL FREE FAX 1-800-551-5908

Page 42



http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+Q32C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+Q34A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK52
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK55
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB83
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD839
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QB85B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC66
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK53
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QC12A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD67
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD616
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD615A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD757B
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK56
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD535A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD538A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD635A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD633-1
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD634
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD758
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+QD761A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+Q32C
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+Q34A
http://www.pittauto.com/default.aspx?page=item+detail&itemcode=WIS+JK75
tom
Text Box
NOTE: ------- through the part no. means it has been discontinued and is not available from Wisconsin
          PITT AUTO ELECTRIC CO     *    4085 ALPHA DRIVE      *      ALLISON PARK, PA 15101
                            FACTORY AUTHORIZED WISCONSIN MOTORS DISTRIBUTOR
                   TOLL FREE 1-800-245-0711 EXT 2      *     TOLL FREE FAX 1-800-551-5908
                                                                            Page 42

tom
Callout
Click the part  number for the price and availability

tom
Text Box
Return to Table of Contents


Pitt Aut : :
ot Pitt Auto Electric Company

Electric
4085 Alpha Drive, Allison Park, PA 15101-2961
cOm pany Web: www.pittauto.com * E-Mail: info@pittauto.com

Distributed Products

HATZ Power
OIESEL Products DIESEL
Air Cooled Gasoline, Natural Gas, Liquid Cooled
Diesel Engines Liquid Propane Engines Diesel Engines
2HP ~ 74HP 53HP ~225HP 15HP ~ 530HP
I?DCI(fardb mur P h y ,
\/ Powerflrsirr ’
Power Take-Off Assemblies Safety Shutdown & Control Systems
WISCONSIN MOTORS, LLC
Wisconsin & Continental Air & Water \\,@ B 5 Ao
Cooled Spark-Ignited Engines . - Al )
37HP ~ 74HP NORAM

Pawer Transfer Solitions,

Centrifugal Clutches Power Transmission Products

ZENITH X

POWER PRODUCTS LLC

Dry Fuel Systems and Tractor & Selected Engine Parts
Components

KOHLER. & -eMeanpme Lenginaire

Kohler Air & Water Cooled Kohler Air & Water Cooled Steiner Tractor Air Filtration
Spark-Ignited Engines & Parts Diesel Engines & Parts Parts & Accessories Systems & Parts
Toll Free Order Line Service Assistance Local Phone Local Fax Fax Order Hotline
1-800-245-0711 412-487-5075 x 123 412-487-5075 412-487-2225 1-800-551-5908

Distribution Territory Varies by Product Line

Open Monday thru Friday from 8:00 AM thru 5:00 PM




	v465.pdf
	Crankcase & Oil Pan (pages 2-3)
	Cylinder & Head (pages 4-5)
	Cylinder Head & Rocker Arm (pages 6-7)
	Crankshaft, Piston & Connecting Rod (pages 8-11)
	Carburetor & Manifold (pages 12-13)
	Oil Pump (pages 14-15)
	Idel gear, Bearing Retainer  & Oil Collet (pages 16-17)
	Oil Lines, Pressure Valve, Relief Valve & Oil Filter (pages 18-19)
	Camshaft & Fuel Pump Mounting (pages 20-21)
	Governor (pages 22-23)
	Gear Cover & Accessory Drive (pages 24 -27)
	Flywheel & Air Shrouding (pages 28-30)
	Starting Motor Mounting (pages 30-31)
	YB85S1 Belt Driven Alternator Mounting [Replaces YB69] (page 32) 
	Control Panel (pages 34-35)
	Air Cleaner Group (pages 36-37)
	Distributor & Coil (pages 38-39)
	Engine Gasket Set (pages 40-41)




